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2nd Internal Test – May 2017  

Sub: Hydraulic Structures and Irrigation Design – Drawing  Code: 10CV65 

Date:  10/ 05 / 2017 Duration: 3hrs Max Marks:  70 Sem:  6 Branch: CIVIL 

Note: Answer any one question. Draw neat sketches. Assume necessary data 

 Marks 
OBE 

CO RBT 

 1. Design a canal drop (Notch type) for the following data  
Particulars U/s canal D/s canal 

Full supply discharge 10m3/s 10m3/s 
Bed level +20.00m +18.00m 

Full supply level +21.50m +19.50m 
Bed width 8.0m 8.0m 

Top level of embarkment +22.50m +20.50m 
Top width of 
embarkment 2.0m 2.0m 
Side slopes 1:1(cut) 1.5:1(fill)  

Average ground level +20.50m +20.50m 

Hard soil available@ +18.50m +18.50m 
 

  [25 ] 

CIV6

05.5 
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 Draw to a suitable scale 

1) Half plan at top and half plan at foundation      [20 ] 
2) Longitudinal section         [15 ] 

3) Half cross section  along the drop and half elevation [10 ] 
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 Marks 
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 1. Design a canal drop (Notch type) for the following data  
Particulars U/s canal D/s canal 

Full supply discharge 10m3/s 10m3/s 
Bed level +20.00m +18.00m 

Full supply level +21.50m +19.50m 
Bed width 8.0m 8.0m 

Top level of embarkment +22.50m +20.50m 
Top width of 
embarkment 2.0m 2.0m 
Side slopes 1:1(cut) 1.5:1(fill)  

Average ground level +20.50m +20.50m 
Hard soil available@ +18.50m +18.50m 
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 Draw to a suitable scale 

1) Half plan at top and half plan at foundation      [20 ] 
2) Longitudinal section         [15 ] 

3) Half cross section  along the drop and half elevation [10 ] 
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2. Design a surplus weir with stepped apron of a tank forming a part of a chain of 

tanks with the following details.  
a) Combined catchment area – 24.5 km

2
 

b) Intercepted catchment area – 20.4 km
2
 

c) Maximum water level  - +103.25m 

d) Full tank level – +102.5m 

e) Ground level at proposed site – +101.5m 

f) Ground level below weir slopes off in a length of 5m fall to –  +100.5m 

g) Tank bund level – +105m 

h) Top width of tank bund – 2m 

i) Side slope of bund on either side – 2:1 

j) Ryve’s coefficient for combined catchment – 9 

k) Level of hard rock strata - +100m 

  [25 ] 
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Draw to a suitable scale 
1) Half plan at top and half plan at foundation      [20 ] 
2) Longitudinal section         [15 ] 

3) Half cross section  along the drop and half elevation [10 ] 
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2. Design a surplus weir with stepped apron of a tank forming a part of a chain of 
tanks with the following details.  

l) Combined catchment area – 24.5 km
2
 

m) Intercepted catchment area – 20.4 km
2
 

n) Maximum water level  - +103.25m 

o) Full tank level – +102.5m 

p) Ground level at proposed site – +101.5m 

q) Ground level below weir slopes off in a length of 5m fall to –  +100.5m 

r) Tank bund level – +105m 

s) Top width of tank bund – 2m 

t) Side slope of bund on either side – 2:1 

u) Ryve’s coefficient for combined catchment – 9 

v) Level of hard rock strata - +100m 
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Draw to a suitable scale 
4) Half plan at top and half plan at foundation      [20 ] 
5) Longitudinal section         [15 ] 

6) Half cross section  along the drop and half elevation [10 ] 
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